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1. Please study the distributions of the velar stop [k] and the uvular stop [q] in the
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following data from Truku Seediq, as produced by younger speakers (data

based on Lee 2009).

(1) a guwux  ‘rain’ b.
(2) a. rokruk  ‘blackened ash’ b.
(3) Impossible morphemes:

(4)  ‘Ribix’(aname) a.
(5)  “child’ a.
(6)  ‘Bsngan village™ a.
(7) ‘Tkijig village’ a.
(8)  ‘Qowgan village’ a.
(9)  ‘the mountains’ a.
(10)  (negation) a.
(11) ‘loose’ a
(12)  ‘scoopup’

(13) “diminish’ a.

kujuh
ragruq

a. *mokuriq

Basic form
ribix
lag‘i

Basic form
basanan
takijry
goyan
dayijaq

Basic form
ini
rahuq

Actor focus

gamayuk
gamadak

Tooo =

g =

‘woman’
‘Formosan bulbul’

b. *kohonig

‘be like...”
kanribix
ganlaq‘i

“from..."
makabasanan
mokatakipy
magagoyan
maqadayijaq

+ °I" (1st sg. nominative)
ini ku
rahuq ku

Imperative
gayupi
gadapi

1.1 [5%] Are [K] and [q] distinctive phonemes in Truku Seediq? How do you

know?

1.2 [5%] What are the underlying forms of the affixes for ‘be like...” and ‘from...”

in examples (4)-(9)? What explains their surface variation?



1.3 [5%] What makes the hypothetical morphemes in (3a) and (3b) impossible
in Truku Seediq?

1.4 [5%] Note that the pronoun meaning ‘I’ in examples (10)-(11) doesn’t show
the variation seen in (4)-(9). There are two possible reasons for this. What are
they?

1.5 [5%] Describe the pattern in examples (1)-(11) by choosing one of the
descriptions in each set below:

[creates allophones / does not create allophones]

[assimilation / dissimilation]

[from left to right / from right to left]

[local / nonlocal]

[within morphemes only / across morphemes only / both within and across
morphemes]

[within words only / across words only / both within and across words]

1.6 [5%] In what way do the examples in (12a) and (13a) seem to violate the
pattern in (1)-(11)? Using the evidence in (12b) and (13b), propose an
analysis that explains this apparent violation.

2. [10%] Draw tree structures for sentence (1), (2), and (3), and then explain
why (4) is not acceptable.

(1) = z2 B 2R e fdn 4 £ 3k o
(2Q)* 22t jIT B PRI E TR o
(3)~ 2 A AL Fae ?,Eé
(4)*~ 2L FI L R4 R 38 o

3.

3.1 [5%]Identify the possible thematic roles of each of the three underlined parts
in the following sentence in (1).

3.2 [5%]Compare (1) with the double object sentence Bill gave me a book. If
someone claims that (1) is also a double object construction, in which wo ‘I’
Is the first object and yi shangwu “one morning’ is the second object, do you
agree with the claim? Give reasons for your answer.
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4. Here is a Chinese joke. A said, “i& ¢ ¥ — 2 7 ¥ 4z45 - ” B responded, “7~%
r‘jf‘u’ﬁ = ¥ #* | ” Based on this joke, answer the following questions.

4.1 [7%] Based on the syntactic categories and semantics of — and 7, explain
why B’s response is appropriate (as a joke) under this context.

4.2 [7%] Draw two trees for — % and = % to show their syntactic difference.

4.3 [16%] Focus on — and the word following it in the examples below and
decide whether they are of the type [ - % % ¥ 4z ] (let’s call it Type A)
or of the type D’K;I* * 5 ¢ |(let’s call it Type B) - Please explain your
classification.
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5.1 [LO%1:& 58 % £ frf & 5 B iafl o] (1) ool (2) LB -

5.2[5%] 5] (1) o] (2) ® cher 3 o8- B ¥ 12 4F 5 1 0P B &2 (durative
adverbial ) — f IR 7 FE b4 P TR HE R T

5.3 [5%]6] (1) feir| (2) ® ehds i fdsgs A7 2



